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SF04E07B10E 81T SHLLLTR
= 3 s = = = >
SERLHIRKEHBERY BBEEHENFIERN (EETH )
tEE BEERZEEERTER
BREZEDLI
BSHE
BEES 1 2 4 5
HEXRL/AEEEHESL N =% #H KE HE HKE HE #HE S5~
BOE 3,193 1,228 518 5, 628. 363 7,651. 818
il 2,973 1, 160 496 5, 357. 435 7,245. 310
mT o & 220 68 22 270. 928 406. 508
SWeE G 649 244 101 1,123. 882 1,441. 578
SV ETEX 42 15 5 76. 950 80
SWeEHIEX 73 25 11 132. 970 157
SWEFETREX 66 23 14 118 133
SV FETABIX 30 23 11 127.976 189
SV FE P RX 56 24 7 98 122
SV ETRAX 36 10 3 71 103
S W EHRAIX 81 47 21 183 199. 663
SV FE X 109 30 15 151. 986 237. 255
SV ETTRRX 57 29 7 115 136. 660
SV ETEMK 49 18 7 49 84
)1k 174 58 27 265. 927 379
RERTH 89 31 17 113.974 187. 543
JI 0 262 92 53 408 656. 762
ATHTT 29 7 3 47 59
A 23 9 10 45 49. 606
EivNil 159 67 21 298. 980 399
FRAETH 41 21 10 78 114
nzeE 35 19 9 60 83
AHETH 24 12 6 78 89
A LT 37 9 8 67. 985 81
FH B 99 36 11 153 204
el 60 20 3 124 202
SPIAET 17 6 4 30 52
PR 48 15 5 113. 974 125
AT 51 24 6 85. 988 110
LR 97 33 12 190. 979 228
Fon 102 30 11 228. 982 244
[yl 141 50 12 248 357. 033
BRTH 29 13 9 62 79. 705
S 65 15 7 133 155
PNk 62 40 14 130 180
WIEE T 70 27 21 139 148
BT 29 9 3 62 73
Foseri 30 15 17 67 103. 705
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SF04E07B10E 81T SHLLLTR
= 3 s = = = >
SERLHIRKEHBERY BBEEHENFIERN (EETH )
tEE BEEEFEEZER
BREZEDLI
BSHE
BEES 1 2 4 5
HEXRL/AEEEHESL N =% #H KE HE HKE HE #HE S5~
BT 51 30 6 117. 982 168. 439
fi )1 26 11 4 58 68
AETH 58 33 4 111.948 152
AT 26 11 6 59 72
J\ i 34 19 6 72 108
R 47 29 11 73 127
= 65 19 4 85 145
SHEE T 16 3 5 38 62
ST 42 11 5 75 97
SEFh 18 12 1 36 41
[ydsn 42 15 9 53 84
H s 28 17 8 31.911 45
B 29 18 10 50. 980 86
S U AT 46 23 10 104. 943 126
E [ i 23 7 7 36 62. 939
FZEmT 14 7 4 26.928 42
e SEER 14 7 4 26.928 42
=5:11 28 6 2 22 29
= = [T 22 3 0 15 22
EAERT 6 2 1 8 8
PNEiLiND 56 11 3 45 59
Vi T 8 5 0 13 14
Jil LI ] 5 1 2 16 18
/N T 12 2 0 19 18. 375
IS HT 11 1 0 10 16. 888
LT 6 6 0 17 17. 629
S LT 7 1 0 10 8
=y elil 6 1 1 6 11
LEARER F 55 17 3 91 103. 892
A ERT 4 1 0 3 3
R EFIT 1 1 0 4 14. 424
R 4 2 0 5 3
/N ER B T 3 2 0 3 10
AR 1 0 0 2 5
FRAHR &t 13 6 0 17 35. 424
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SF04E07B10E 81T EEAES
= — > N = [—IRt P = >
SERLHIRKEHBERY BBEEHENFIERN (EETH )
tEE BEEEFEEZER
BREZEDLI
BSHE
BEES 1 2 3 4 5
HEXRL/AEEEHESL N =% #H KE HE HKE HE #HE S5~
By 2 1 0 3 3
A1) [T 9 3 0 9 13
oL 12 4 1 12 33
HER # 23 8 1 24 54
T JEHT 14 5 0 20 27
RKHEER G 14 5 0 20 27
‘= ARAT 14 4 3 15 29
R ERE B 14 4 3 15 29
(el 22 6 5 18 32.192
FARHT 9 4 3 14 24

LB AR E 31 10 8 32 56. 192




